(CH: &)

QEXIT BN RIAIR4Z}

AT

cHoln —

aHojn ~o

IHojn w

oHojn

IHojn v

9.23% Of
A= AR

Iel A
= ——

8.96~9.23% Ojot

U ELE]

ST= LR

843~8.69d 02t

8434 o[t

B 948
EFH2t0.20

9.774 Ol

9.58~9.774 0|2t

e
Rl RN

JEel A
= —

9.38~9.58% Dlgt
A7l

BRIl

9.18~9.384 02t

SI=EAzR s

9.18% DJ2t

8.99% Ol
ELlEE R

Fylc EE]

Il A
= —

8.61~8.99% 0ot

SRR
ERlERERE

ST= LR

R R

823~8.614 O[2t

HlESlRlT

ERlbines

7.852~8.237% O|gt

1i: o 50
BII=g st

7.8527 0|2k

B 810
HEFHt0.79

9.29% Ol
RlER e,
SRR

B EAzeR

8.49~9.29% 02t

7.70~8.4974 O|gt
gl EL:E]
A7l
l=lEse

FI= LRI

6.90~7.70% O[gt

6.904 0|2t



